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Basic Addition Word Problems

One- and Two-Digit Addends

Date:

(1) There are fifty trees in the park. Park
workers will plant 7 more today. How

many trees will the park have then?

(2)

Answer:

(3) Arestaurant served 33 pizzas today.
It served seven yesterday. How many

pizzas did it serve on both days?

(4)

Answer:

A shelf was being held in place by
thirty-five screws. Evan added nine
more screws to make it stronger. How
many screws are holding the shelf in
place now?

Answer:

Sabrina found 36 seashells on the
beach. Her sister found 5 seashells.
How many did they find altogether?

Answer:
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Basic Addition Word Problems

One- and Two-Digit Addends

ANSWER KEY

(1) There are fifty trees in the park. Park
workers will plant 7 more today. How

many trees will the park have then?

(2)

50 + 7 =57

Answer: 57 trees

(3) Arestaurant served 33 pizzas today.
It served seven yesterday. How many

pizzas did it serve on both days?

(4)

33+ 7=40

Answer: 40 pizzas

A shelf was being held in place by
thirty-five screws. Evan added nine
more screws to make it stronger. How
many screws are holding the shelf in
place now?

35 + 9 = 44

Answer: 44 screws

Sabrina found 36 seashells on the
beach. Her sister found 5 seashells.
How many did they find altogether?

36 + 5 =4/

Answer: 4/ seashells
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